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1. (13 pts) Your friend goes for a bike ride. The distance, D(t), in feet traveled by your friend after
t second is given by the graph: 7 % S\C‘I’gf;?ﬂf /u}s\o‘?‘g 3 8
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For each part, clearly explain your work in a sentence and label your work in the graph.

2 (a) Find the average speed over the 3-second interval starting at ¢ = 7 second. (Give the units)
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g 4 (b) Find the largest interval when Average Trip Speed is between 2 feet /second and 3 feet /second.
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3 (¢) Find the value of ¢ at which D(t) — D(1) = 10.
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u (d) You decide to go for a bike ride as well. You start at the same time and place, but you travel

at a constant speed of 1.7 feet/second. Find the time when your friend is farthest ahead of
you and estimate the distance between you and your friend at this time.
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Distance ahead = 6.4 feet
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